1/4” X 1/2" LONG 16CGA. GALV. STEEL OPTIONAL SSB GLASS LIGHTS
2" GALV. STEEL CARRIAGE BOLT & NUT TOP BRACKET WITH

HORIZONTAL TRACK USE EXTRA 14GA. ROLLER HOLDER 4 STRUTS
16 CAGE OR 13 GAGE 1/4" X 3/4" SEE DETAIL D. 3" 20GA WIDE (9 X 7 o_.wq_m_mzﬁvm mommzcwqmcojoz
BASED ON THE WEIGHT HEX HEAD SELF 3" 18GA WIDE (© X 8

R

S.
OF THE DOOR. DRILLING SCREW (SEE DETAIL A) \
/ \ "|'> / 3 OPTIONAL

] . LONG PANEL
EMBOSSES

USE (2) 1/4" X 3/4"
| SHEET METAL SCREWS.

(SEE DETAIL F)

n w PTIONAL LOCK
3/4% X 1-1/2" X 13GAGE MIN. 2” ROLLER WITH 7/16” DIA. SHORT STEM.

GALV. STEEL HORIZONTAL ANGLE. TIRE: 7 BALL

13 GAGE MIN. GALV. STEEL (SEE DETALL ¢)
TRACK SPLICE OR FLAG BRACKET. _ _
FASTEN TO WOOD JAMB WITH _ 2.75" _
5/16" X 1-1/2"LAG SCREWS. DETAIL A
2" 16 GAGE GALV. STEEL N ————

VERTICAL TRACK BOLTED ) w: mmm» &_Wm WHMWM MN M MW
TG TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK

.
(SINGLE CAR)

CENTER STILES & CENTER
Y NOTE: DOOR MUST BE INSTALLED HINGES (1 COLUMN)
o_uﬁ_w_zo_w_ooq%mo:ﬂ . WITH EITHER AN ELECTRIC DPERATOR
DOOR HEIGHT) | ‘ OR A LOCK (MUST ENGAGE BOTH ) ,
. ,, 14 GAGE GALV. STEEL END TRACKS ON DOORS WITH EXTENSION 4°X 16" AIR VENTS
\\\I_zomm ATTACHED WITH SPRINGS). 2) REQ'D.
(5) SCREWS TYP. (SEE DETAIL F) 60 SQ. IN. MIN.

- BB A
DETAIL E w : — — END STILE 20GA.

_N BRACKETS EACH w_om_

1/2" POLYSTYRENE THIS STRUT BELOW HINGE LEAF
INSULATION STANDARD OTHER STRUTS IN MIDDLE OF
FOR MODEL 735 SECTIONS.

mm_m %__W_.__.u>ﬂ_u_wvoo<m_» ENDSTILES.
’ 21 OR 247

STOP MOULDING NAILED EVERY 12" PANEL GALV. AND
8—D TYPE NAIL MIN. X PREPAINTED STEEL
25 GAGE FOR ALL

i I | i MODELS EXCEPT
Nw w vl 13 GAGE GALV. STEEL BOTTOM BRACKET USE ONE EXTRA SELF DRILLING SCREW
4 _ 750, 755. W ATTACHED WITH 2 FASTENERS THROUGH TOP LEAF OF HINGE, END

]

(2 PER VERTICAL STILE)

) DETAIL C
1—-3/8" POLYSTYRENE INSULATION -
QPTIONAL FOR MOD. 724, 730,
750, 426 & 755. L.H.

V [ GALVANIZED STEEL STRUT.
= y R _
20 GAGE END STILES — FASTENED
WITH TOG—L—LOCS TO PANEL. @p DRILLING SCREWS. END CAP 20GA.
/]

BOTTOM SCREW CAN BE ABOVE OR STILE AND RAIL.
BELOW ROLLER. TYPICAL EACH END HINGE.

ul/
)
18 GAGE GALV. STEEL CENTER HINGE 20\ SECE_GALY. STEEL ﬂﬂ_.@\ DETAIL F

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE @ X m

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2" _ NOTE: GLAZING DOES NOT SATISFY IMPACT FL 15080
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SECTION A—A DEBRIS REQUIREMENTS IN FBC

SEE DETAIL E.
SECTION B-B NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"-20 X 5/8” HEX BOLTS & NUTS OR pP.0. BOX 8915
1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

LITTLE ROCK, AR
W winDpsor DooR |55 55

(501) 562—1872

P.S.F. TABLE
DOCOR SIZE DESIGN PRESSURE TEST PRESSURE MODELS:
WIDTH | HEIGHT [ POSITIVE | NEGATIVE | POSITIVE | NEGATIVE ’

724, 426, 730, 735, 750, /55
9'-0"|7'-0"|+27.031.2 |[+40.5|—46.8

PART NAME:
9'-0"|8'~0"|+27.0(~30.4 |+40.5|-45.6 TS E Sootes PE 2715717 | RLB WINDLOAD RESIDENTIAL PAN DOOR
3121 FAIRGATE DR. TOLERANCE| W3 B

Carrollton, TX 75007 U|\_ OlOmW _nm_l_mw
DODRS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES |[X—PE 56308-F-2203

FRAC.% 1/64”
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—Q5. Mwwwmwwmwu%moo 117-=1-07| RLB Jpec = .m& NEXT LEVEL DATE: DWG. NO.

. — e ANG. £ 1° 2/27/07
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. Professional Engineer s seal 5—-8-07/ RLB 99-B-081

ided ly f ficati T SCALE .
B O o Nection © . DATE  |APPROV| RGNE | PLOT SCALE SHEET 1 OF 5




3/47 X 1—1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT

DOPENING

\

Yy QF THE DOOR.

USE
SHE

1/4” X 1/2" LONG
CARRIAGE ‘BOLT & NUT

USE EXTRA
1/4” X 3/4"
HEX HEAD SELF
DRILLING SCREW

P UEAL SCRENS.

13 GAGE MIN. GALV. STEEL TRACK SPLICE

OR FLAG BRACKET.

VERTICAL TRACK

SEE DETAL E

FASTEN TO WOQD

/m; 16 GAGE GALV. STEEL

JAMB WITH 5/16% X 1-1/2" LAG SCREWS

-

I

~o
~N

DETAIL D

16 GAGE GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER
SEE DETAIL D.

STRUT ON UPPER PART OF
SECTION BELOW ROLLER.
CARRIER.

2" ROLLER WITH 7/16" DIA.
LONG STEM.
TIRE: STEEL 10 BALL

STRUT ON UPPER PART OF
SECTION ON HINGE LEAF.
SEE DETAIL C

14 GAGE GALV. STEEL END HINGE
(COMMERCIAL) ATTACHED WITH (5)

I'_ _ll 1.25"

3"

°

T 275" L

DETAIL A

3" 20GA WIDE STRUT

USE ONE EXTRA SELF
DRILLING SCREW THROUGH
TOP LEAF OF HINGE,

END STILE & RAIL

5 STRUTS

OPTICNAL SSB
GLASS LIGHTS

3" 20 GA WIDE
A (SEE DETAIL A)

ALTERNATE CONSTRUCTION
USING {2} STRUTS

OPTIONAL
LONG PANEL

EMBOSSES

S oPTIONAL LoCK

10" (SINGLE CAR)

4" X 16" AR VENTS
2) REQ'D.

60 SQ. IN. MIN.
OTAL OPEN AREA)
OPTIONAL.

NCTE: DODR MUST BE INSTALLED

WITH EITHER AN ELECTRIC QPERATOR
OR A LOCK (MUST ENGAGE BQTH

CENTER STILES & HINGES
(2 COLUMNS)

NCTE: IF OPTIONAL 4 EMBOSSES
ARE SUPPLIED, 3 COLUMNS QF
CENTER STILES ARE REQUIRED.

20 GAGE
END STILES

TRACKS ON DOQJRS WITH EXTENSION

SCREWS. SEE DETAIL C. SPRINGS).

TYPICAL EACH END HINGE

DETAIL E g

3 BRACKETS EACH SIDE

HEIGHT)

RAIL

STRUT ON UFPPER PART OF
SECTION ON HINGE LEAF.

SEE DEATAIL C. O
GALVANIZED STEEL STRUT. =
ATTACHED WITH 1/4” X 3/4 ]
LONG HEX HEAD SELF o
DRILLING SCREWS. //

(2 PER VERTICAL STILE) O /

1/2" POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

20GA. END CAPS:

20 GAGE END STILES — FASTENED
WITH TOG—L—LOCS TO PANEL.
USE END CAP OVER END STILES.
(SEE DETAIL B)

SECTION ON HINGE LEAF. a
mmm_u_m>4>__|o,

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730,
750, 755, 426. LH.

STRUT ON UPPER PART OF o /

21" DR 24"

HIGH PANEL. GALV.
STOP MOULDING NAILED EVERY 12" AND. PREPAINTED

6—D TYPE NAIL MIN. STEEL 25 GAGE ALL
|y ; MCDELS EXCEPT
24 GAGE MODEL
750, 755.

m>__.wV

STRUT ON BCOTTOM BRACKET

DETAIL C

10 X/
10 X 8

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
A\AHIMO X ..u\m_. HEX BOLTS & NUTS QR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

18 GAGE GALV. STEEL CENTER HINGE
(RESIDENTIAL) ATTACHED WITH 4 FASTENERS.

20 GAGE GALV. STEEL CENTER STILE. ATTACHED
WITH TOG-L—-LOC OR POP RIVETS TC PANELS.

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE
FOR SPACING. FASTEN TO WQOD JAMBS WITH 5/16" X 1-1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS.

SEE DETAL E.
SECTION B-B

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS.

BOTTOM SCREW CAN BE ABOVE OR
BELOW ROLLER.

GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

SECTION A—A

FL 15080

P.0. BOX 8915
LITTLE ROCK, AR
72219—8915

(501) 562-1872

W winDsor DooR

P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE TEST PRESSURE
WIDTH | HEIGHT [POSITIVE | NEGATVE | POSITIVE | NEGATIVE

10'=0"|7"=Q"|+27.0|-30.5 |+40.5 |-45.8
10'=0"|8"-Q"|+27.0|—30.5 |+40.5 |-45.8

MODELS:
724, 426, 730, 735, 750, 755
PART NAME:

WINDLOAD RESIDENTIAL PAN DOOR
W3 B

John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES |TX—PE 58308—F—2203
LISTED IN THE TABLE ABOVE VIA TESTING TO >Zw_\_u>m_<_> 108—-05. A_H_QWWV_.HNWWVWWOD

Professional Engineer's seal
provided only for verification of
windload construction details.

12/15/11 RLB
3—-10-08| RLB
117-=1-07| RLB NEXT LEVEL DATE:

3-8-07 | RLB 2/27/07

DATE APPROV. PLOT SCALE szw1m<

DWG. NO.
99-B-081
SHEET 2 OF 5

DETERMINATION OF SUITABILITY FOR SFECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.




" n 1/4" X 1/2" LONG
3/4" X 1-1/2" X 13GAGE MIN. 16 GAGE GALV. STEEL TOP BRACKET
i CARRIAGE BOLT & NUT ‘ OPTIONAL SSB GLASS LIGHTS OPTIONAL
GALV. STEEL HORIZONTAL ANGLE. Mo%wﬁ_w/ﬂ_.._ﬁm_“_.m.__.m_. oK USE EXTRA WITH 14 GAGE ROLLER HOLDER ALTERNATE CONSTRUCTION LONG PANEL

16 GAGE OR 13 GAGE. 1/47 X 3/4” SEE DETAIL D. USING (2) wamcam./ EMBOSSES
//

6 STRUTS
HEX HEAD SELF 2 =m0
@ ww,mmmmowom_m.m WEIGHT DRILLING SCREW 3" 18GA s_mm/

(SEE DETAIL A)

USE %Nv r\#._ X 3/4” , STRUT JUST BELOW TOFP BRACKET.
SHEET METAL SCREWS. i

13 GAGE MIN. GALV. STEEL ! _
TRACK SPLICE OR FLAG BRACKET. ¢
FASTEN TO WOOD JAMB WITH p 2” ROLLER WITH 7/16" DIA. LONG STEM.

5/16" X 1-1/2"LAG SCREWS. TIRE: STEEL 10 BALL.

B
2" 16 GAGE GALV. STEEL |\
VERTICAL TRACK BOLTED . OPTIONAL LOCK

\
TO TRACK BRACKETS WITH ! STRUT ON UPPER PART OF \\m\
SEE DETAILS C

SECTION ON HINGE LEAF.
DETAIL D SEE DETAL C i

STRUT ON LOWER PART OF »
SECTION ABOVE HINGE LEAF 16" {DOUBLE CAR)

SEE DETAIL C. CENTER STILES

5 COLUMNS)
14 GAGE GALV. STEEL END 4"X 16" AIR VENTS ( 16GA. END CAPS
HINGE (COMMERCIAL) ATTACHED WITH (4} REQ'D. Mm zmmmcnﬁwovmm
OPENING HEIGHT (6) SCREWS. SEE DETAIL C. Two SQ. IN. MIN.
(NOT OVER _

@ TOTAL OPEN AREA
DOOR HEIGHT) DETAIL E § : OPTIONAL. )

_A BRACKETS EACH m_om_ A STRUT ON UPFER PART OF LOWER STRUT

SECTION ON HINGE LEAF. (SECTION #2 &

SEE DETAL C SECTION 3 ——___
USE TWO EXTRA SELF

UNLESS SPECIFIED OTHERWISE, : DRILLING SCREWS THROUCH
ALL FASTENERS ARE 1/4"—14' X 3/4" " TRy
HEX_ HEAD SHEET METAL SCREWS OR e EAGH END HINGE
1/4"-20 X 5/8" HEX BOLTS AND NUTS. GALVANIZED STEEL STRUT. : .
ATTACHED WITH 1/4" X 3/4 DETAIL B

LONG HEX HEAD SELF —

. : DRILLING SCREWS.
172, FOLYSTRENE | | (2 PER VERTICAL STILE) 1o

FOR MODEL 735
20GA. END STILES FASTENED TO ) WMMﬂMv%ﬂm_dm\ﬁmﬂ_hW%qrmhﬂ

mw_mm_mz,m:m_\,mowmm_.m_.%%%.w::mm . SEE DETAIL C. NOTE: DOOR MUST BE INSTALLED
(SEE DETAIL B) ’ WITH EITHER AN ELECTRIC OPERATOR

NA:I_OI_U>ZM_| " _I,u\m: _uO_|<w._.<_N_mZm_ZwC_r>._._OZ O_N>_|OO_A :\_CM._. mZO>Omw0._.I
STOP MOULDING NAILED EVERY 6” ALV AND QPTIONAL FOR MOD. 724, 730, Wmn%oﬂom;mf\. TRACKS ON DOORS WITH EXTENSION

6—D TYPE NAIL MIN. [=% PREPAINTED STEEL 750, 755, 426. ECTION #23 SPRINGS).

25 GAGE ALL STRUT IN MIDDLE OF SECTION.
MODELS EXCEPT _ _
24 GAGE MODEL : L.H. [ 2.75” [

750, 7565.
DETAIL C DETAIL A
13 GAGE GALV. STEEL BOTTOM BRACKET VETAIL 3 1BGA WIDE STRUT
ATTACHED WITH 3 SCREWS.
20 GAGE GALV. STEEL CENTER STILE

ATTACHED WITH TOG—L—-LOCS OR RIVETS "

18 GAGE GALV. STEEL CENTER HINGE NOTE: GLAZING DOES NOT SATISFY IMPACT \4 @ X w

RESIDENTIAL ATTACHED WITH 4 FASTENERS 7 DEBRIS REQUIREMENTS IN FBC FL 15080
SECTION A=A

L— A

13 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE FOR QUANTITY
AND SPACING, FASTENED TO WOOD JAMBS WITH 5/16" X 1-1/2" P.O. BOX 8915
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. Py

LITTLE ROCK, AR
see s e ar W wINDSOR DOOR |05 5

(501) 562—1872

MODELS:

P.S.F. TABLE 724, 426, 730, 735, 750, 755
DODR_SIZE DESIGN PRESSURE | TEST PRESSURE -

WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE PART NAME:

16°—0"|7"-0"| +26.0 [-29.1 | +39.0|-43.7 John E Scates PE WINDLOAD RESIDENTIAL PAN DOOR
%BD _n>_me>wm DR. I Aw\;m\i RLB TOLERANCE| W3 B

Carrolltan, TX 75007 3—10-08| RLB
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES |TX—PE 56308-F—2203

FRAC.E 1/64"
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05. m_@wwﬂwwﬁ@moo 11-1-07| RLB lpec = .ma NEXT LEVEL DATE: DWG. NO.

- — e ANG. £ 1° 2/27/07
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF QTHERS. wﬁmwww%wﬂ_Kmﬂm_ﬂ:ﬂwmomw@: o 3-8-07] RLB <CALE STOT SCALE 99-B-081
windload construction details. DATE APPROV. NONE SHEET 3 OF 5




1/4" X 1/2" LONG ALTERNATE CONSTRUCTION
3/47 X 1-1/2" X 13GAGE MIN. CARRIAGE BOLT & NUT OPTIONAL SSB GLASS LIGHTS USING (2) STRUTS.

GALV. STEEL HORIZONTAL ANGLE USE EXTRA
1/4" X 3/4 16GA. GALV. STEEL TOP BRACKET

. HEX HEAD SELF WITH 14 GAGE ROLLER HOLDER —
2" GALV. STEEL DRILLING SCREW SEE DETAIL D
L —OPTIONAL

IO_N_NOZ_.>_|4_N>O_A mm._._uc._.m
Am@po_mo_uduo\b,o_m @ USE (2) 1/4" X 3/4" wqmcqgcw._.mm_.os\ a| . . _uozo_u>zm_.
BASED ON THE WEIGHT mImm% METAL SCREWS. TOP FIXTURE. 3" 20GA WIDE - EMBOSSES

OF THE UOO_».I/ (SEE DETAIL A) 8'

\
13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOCD JAME WITH
5/16" X 1-1/2" LAG SCREWS.

2" 16 GAGE GALV. STEEL
[ i e s, ]
1/4-20 X 5/8" TRACK BOLTS. DETAIL D u )

||_ _1 1.25 CENTER STILES I\

74" — - (5) COLUMNS

TIRE: STEEL 10 BALL. LOCK

[ 1 [ 1]
» " : r—— [™—OPTIONAL
\\N ROLLER WITH 7/16" DIA. LONG STEM. .D. 4 ]

SEE DETAIL C - \ : A
16' (DOUBLE CAR)

m\,_

OPTIONAL. CENTER HINGES
\ SEE DETALL E e 14 GAGE GALV. STEEL END 4" X 16" AIR VENTS (3) COLUMNS END CAP, 16GA.

HINGES ATTACHED WITH M#v REQ’'D.

(6) SCREWS, TYP. (SEE DETALL C). 120 SQ. IN. MIN. NOTE: DOOR MUST BE INSTALLED

TOTAL OPEN AREA) WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH

. TRACKS ON DOORS WITH EXTENSION
OPENING HEIGHT 2.75 STRUT ON UPPER PART OF SPRINGS). — —END STILE 20GA.

(NOT OVER SECTION OVER HINGE
DOOR HEIGHT) : ._E LEAF. (SEE DETALL C).
3" 20GA WIDE STRUT >~
o)

m._.mc._.oz_.ozmm_u}_ﬁ.o_.. ._.<_u._.O<<mmm._.mc._.mm_w.
SECTION ABOVE HINGE BN

LEAF.  (SEE DETALL C). USE TNO EXTRA SELF DRILLING
SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE,
END STILE & RAIL AS
SHOWN,
TYP. EACH END HINGE.

o) GALVANIZED STEEL STRUT, 2" STEEL ROLLERS
\U\>._|_.>OIMD WITH 1/4" X 3/4™ (LONG STEM) |\

1/2" POLYSTYRENE
INSULATION STANDARD
FOR MODEL 735

5 _A. BRACKETS EACH SIDE

*

2Q GAGE END STILES FASTENED TO 24"
PANEL WITH TOG—L-LOCS. PANEL GALV AND
S
é

LONG HEX HEAD SELF

DRILLING SCREWS. TYP. UPPER STRUT REF.
(2 PER VERTICAL STILE) T

USE END CAP OVER END STILES. PREPAINTED STEEL
(SEE DETAIL B) 25 GAGE ALL

TOP MOLDING NAILED EVERY 6 MODELS EXCEPT

24 GAGE MOQDEL
-D ._%_u_m_ NAIL MIN. 750, 755.

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MOD. 724, 730, 750,
755, 426.

DETAIL C

STRUT QVER BCTTOM BRACKET

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 SCREWS.

18 GAGE GALV. STEEL CENTER HINGE 20 GAGE GALV. mqmmw CENTER STILE.
SECTION A=A

ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—L-LOCS OR RIVETS. NOTE: w__mmm___mommom_wmmzzomzwmﬁ__m_wwm_ﬂ_w\__u>3 FL 15080 4 @ VA m
13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE FOR QUANTITY @

AND SPACING. FASTENED TO WOQD JAMBS WITH 5/16" X 1—1/2"  NOTE: UNLESS SPECIFIED OTHERWISE, "
ALL FASTENERS ARE 1/4—14 X 3/4
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. ALL TASTENERS ARE 17414 X 374

SEEDEAL B oEnTION B—R 1/4-20 X 5/8" HEX BOLTS AND NUTS. P.0. BOX 8915

LITTLE ROCK, AR
W winDsoRr DooR| )5

(501) 562-1872

MODELS:

724, 426, 730, 735, 750, 755
P.S.F. TABLE

DOOR SIZE DESIGN PRESSURE | TEST PRESSURE PART NAME:

WIDTH HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE John E Soales PE WINDLOAD RESIDENTIAL PAN DCORS

16°=07"|18'=0"|4+26.0 |—29.0 [+39.0 |—43.5 %umo_ﬂwﬁo%muww% — [12/15/11 RLB TOLERANCE | W3 B

FlopE-di737 0 e Ho s [ a e v vy

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES —PE- 1= I DATE;

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05. (972) 492-9500 11-1-07] RLB DEe = .m.a 2/27/07 DWG. NO.
Professional Engineer’s seal 5—8-07/ RLB : 99—-B—-081

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. provided only_for verification of DATE | APPROV.| RGNE |PLOT SCALE SHEET 4 OF 5




3/4” X 1-1/2" X 13 GAGE MIN. (3) 1/4" CARRIAGE BOLTS

GALV. STEEL HORIZONTAL ANGLE.

" 15 GAGE GALV. STEEL TOP BRACKET OPTIONAL SSB ALTERNATE CONSTRUCTION
2" GALV. STEEL WITH 10 GAGE ROLLER HOLDER GLASS LIGHTS USING (2) STRUTS
HORIZONTAL TRACK a & NOTE THAT ROLLER HOLDER
16 GAGE OR 13 GAGE. S CURL IS TURNED DOWN.

BASED ON THE WEIGHT AR ; SEE DETAIL D
OPTIONAL

OF THE DOOR. 14" X 34 )0 ; ; . ; . : _\\ \\_ LONG PANEL
SHEET METAL _ STRUT JUST BELOW —B STRUTS— 7 EMBOSSES
SCREWS TQP FIXTURE. 3" 18GA WIDE

HEX HEAD SELF :
mw Qﬂmm %ﬂo mm#ﬁ Mwmmmzﬁwoaow_w:% DRILLING SCREW mm%mvzoﬂm%,\mmﬂ_ﬁmﬂ%hﬂ (SEE DETAL W
JAMB WITH 5/16" X 1-1/2” LAG SCREWS DETAIL D . |

—— 2” 13 GAGE GALV. STEEL
VERTICAL TRACK

B

2" HURRICANE ROLLER WITH _
7/16" DIA. LONG STEM. SEE DETAL € [~ GPTIONAL LOCK

SEE DETAIL E TIRE: STEEL 10 BALL.

74" (16 X 8)

63" (16 X 7) - - . . . . .
. STRUT ON UPPER PART OF // =A _
i SECTION ON HINGE LEAF. 18" (DOUBLE CAR) |
SEE DETAL €. 4" X 18" AIR VENTS CENTER STILES (7 COLUMNS)

STRUT ON LOWER PART OF 120 5Q CENTER HINGES (3 COLUMNS)
OPENING SECTION ABOVE HINGE LEAF. OTAL OPEN’ AREA)

HEIGHT , OPTIONAL.

(NOT DVER - ¢ :
DOOR / 7 20 GAGE
HEIGHT) : 14 GAGE GALV. STEEL END END STILES
' HINGE AOOZKMEO_E.V ATTACHED WITH ﬁmu USE TWO EXTRA SELF
SCREWS. SEE DETAILL C. DRILLING SCREW THROUGH
HINGE LEAF, END STILE

AND RAIL AS SHOWN.
DETAIL E g .. TYPICAL EACH END HINGE

STRUT ON LOWER PART OF
SECTION ABOVE HINGE LEAF.

_w BRACKETS EACH w_om_

24" (16 X 8)
21" (16 X 7)

. ' STRUT ON UPPER PART OF
_Az\wwrhﬁ_vwmw TYRENE mmmqwmz;m_v_.z o¢_zom LEAF- HURRICANE ROLLERS 13GA. END CAP:
STANDARD FOR i (LONG STEM MADE WITH

20 GAGE END STILES — FASTENED MODEL 735 _ HIGH STRENGTH mqmmc/ DETAIL B

WITH TOG—L-LOCS 1O PANEL.
USE END CAP OVER END STILES. , 1.75°
(SEE DETAIL B) . GALVANIZED STEEL STRUT. — [

STOP _MOULDING NAILED EVERY 6" : ATTACHED WITH 1/4” X 3/47

6-D TYPE NAIL MIN. _ LONG HEX HEAD SELF —
21" & 247 _ DRILLING SCREWS. )

FIGH PANEL. GALV. (2 PER VERTICAL STILE) 3

AND_PREPAINTED 1-3/8" POLYSTYRENE INSULATION

STEEL 25 GAGE ALL 1 QPTIONAL FOR MQD. 724, 730,

MODELS EXCEPT 750, 755, 426.
24 GAGE MODEL

18 GAGE GALV. STEEL GENTER HINGE 750, 755.
ATTACHED WITH 4 FASTENERS. (RESIDENTIAL) _

STRUT ON BOTTOM BRACKET. LH.

DETAIL C DETAIL A_ 18 X 7/

20 GAGE GALV. STEEL CENTER STILE. ATTACHED 3 n
WITH TOG—L-LOC OR POP RIVETS TO PANELS. _— 3" 18GA WIDE STRUT

13 GAGE GALV. STEEL TRACK BRACKETS. SEE >wo<m ,

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1—1/2” 13 GAGE GALV. STEEL BOTTOM BRACKET

LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SECTION A—A ATTACHED WITH 2 FASTENERS. GLAZING DOES NOT SATISFY IMPACT \4 m X m

SEE DETAL E. DEBRIS REQUIREMENTS IN FBC __||_| 1 @O@O_
NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE

SECTION B—B 1/4"-20 X 5/8" HEX BOLTS & NUTS OR NQTE: DAOR MUST BE INSTALLED

1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS. WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH

TRACKS ON DOQORS WITH EXTENSION P.O. BOX 8915

SPRINGS). LITTLE ROCK, AR
W winpsoRr poor |\ ¢

(501) 562—1872

P.5.F. TABLE MODELS:

DOOR SIZE DESIGN PRESSURE | TEST PRESSURE 724, 426, 730, 735, 750, 755
WIDTH [ HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
PART NAME:

18 =077 -0"4+26.0 |—29.1 |+39.0 |—43.7 WINDLOAD RESIDENTIAL PAN DOOR

John E Scat PE
18°~0"[8'-07+26.0 |—29.1 [+39.0 [-43.7 3121 FAIRGATE_ DR, —— [12/15/11 | RLB W3 B

Carrollton, TX 75007 3—10-08| RLB
TX—PE 56308—F—2203
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES FL-RE-51737 11/1/07 | RLB NEXT LEVEL DITES DWG. NO.

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05. (972) 492-9500
Professional Engineer's seal 3—-8-07 RLB M\Mw\ow 96-B-081

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. provided only for verification of DATE  |APPROV. PLOT SCALE | DRN BY SHEET 5 OF 5




